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begin real A,B,C, P, Q, R, W1, W2, ALPHA,
PI; PI:=3.1415926535 ;

START: READ(A); READ(B); READ(C);
Q:=C—AxB/3+2xA13/27; P:=B/3—-A12/9;
R:=Q12+4xP13; CRLF;

if R<0 then
begin if Q=0 then
begin PRINTSTRING(‘X1=");
PRINT(—A/3);
PRINTSTRING(‘ X 2=");
PRINT(sqrt(—3xP)—A/3);
PRINTSTRING( X 3=");
PRINT(—sqrt(—3xP)—A/3)
end else
begin ALPHA: =arctan(sqrt(—R)/
(—Q)); if ALPHA <O then ALPHA
:=PI+ALPHA;
PRINTSTRING( X 1=");
PRINT(2 x sqrt( — P) x cos(ALPHA/3)
—A/3);
PRINTSTRING(‘ X2=");
PRINT(—2 x sqrt(—P) x cos((PI+
ALPHA)/3)—A/3);
PRINTSTRING(* X 3=");
PRINT(—2 x sqrt( —P) x cos((PI—
ALPHA)/3)—A/3)
end
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end else
begin R:=sqrt(R);
W 1:=if Q<0 then (—Q+R)/2 else
(-Q-R)/2;
W2:i=—Q-W1;
W 1:=sign(W 1) xabs(W 1) 1 (1/3);
W 2: =sign(W 2) xabs(W 2) 1 (1/3);
if R=0 then begin
PRINTSTRING(‘ X 1=");
PRINT(W1+W2—A/3);
PRINTSTRING(  X2=X3=");
PRINT(—(W14+W2)/2—A/3)
end
else begin
PRINTSTRING(‘ X 1=");
PRINT(W 1+W 2—-A/3); CRLF;
PRINTSTRING(‘ X 2, X3, REAL
PART=");
PRINT(— (W 14+W2)/2—A/3);
PRINTSTRING(‘ IMAGINARY
PART=");
PRINT(1.7320508075 x (W 1—W 2)/2)
end
end
end
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